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1. If both a and ¢ are real numbers, 2 and 3 are the two solutions of the equation ax?—10x
-+ ¢ =0 for x, then the value of a + ¢ is ( )
(A) 10. (B 12. (C) 14. (D) 16.
2. 1,748 AABC % ,BC > CA > AB,D .E.F 73572 AB .BC.CA i
FW&.DE // AC.FD // CB.# AD : DB =1 : 2, WE T MM =MAEA

( ) X, E D
(A) 3. (B) 4. C) 5. (D) 6.
3. Fa—b=4.ab+c?*+4=0,0a BIHZ( ) C % B
(A) 2. (B) 3. C) 4. (D) 5.
4. WL y =27 B TR 1A, R OTR 2 A s, ) BT A5 1 4l A1

W2k ) it =2 ( )
(A y=x"—2x+1B) y=2"4+2x —1(C) y=x"4+4x +3(D) y =2 —2x — 1.
5. % 32— 2 =1, 92" +122% — 22% — 72 + 2014 BY{H 2 ( )
(A) 2013. (B) 2014. (C) 2015. (D) 2016.
6. AR 1,200 ©QO, Al ©O, MANI AR 3B OO, FENTERAHYT, W 2 4% 14 7
©O; MAHUE( )
(A) 6. (B) 3. © 4. (D) 5.
7. QAIIDFX_IZET?E’HE?J(WH(?&EK SRR 7K GH B R I AT AR 4L Uk PN K R R B B R (]
¢ A1) G2 ] RE 2 (

2 Ll e

t 0|
(D)
8. :ﬁjﬁ/wE‘Jaﬁﬂ:ﬁaﬁ;:/l\mﬁE@Léﬂﬂzﬁjﬁ;ﬁv\ﬁk:n O AR Z AR A T AR 1
220+ 3, X REAY AR B ( )
(A) 1. (B) 3. (C) 6. (D) 9.

9. Given positive integer m which is no larger than 10, and m*" 4+ 2014" can be divided by
5, then the number of such m is ( )
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17. As shown in Fig. 5, there are 3 squares in the right triangle. The sides of the two
smaller squares are a and 4. The side of the square in the middle is x, then x = (in

terms of al.

iznlzle‘ EHKH 2 IEHFIE ABCD WA % =M CDE,AC 2 DE ¥ & F,

lj"J S CFE —
?9 W 7R 90 2 (916 1706 ABCD 108 A IR 6 90° $03k AB'C'D' g
FREL AR AL C D 2 1918 6 OS2 65710 TR WD)

20 kI:J‘JL;E/]HﬁﬂSZ 1 E’Jkﬁﬁ/ﬂj‘j“tk ?Ekﬁﬁ;” T %ﬁ”j‘j A1 sy sy slysds (ay <a, <a;
<a,<a) M5 PNRBIERK FIR” Hﬁkﬂﬁkkﬁﬂb, ﬂﬁ (a)sassass-agsas), W KEHF
ﬁ/(l 27(15 76119(15) Eﬁﬁ*\ﬂ—j(ﬂf

S REH AAREERIEFIE.

21, CRAL# 4 10 40 meE s, fﬂkﬁ 1 WIEHIE ABCD EP LA "B AB BRI D
DC M HEZWEBRZTF S E, %4 DE I EK 3 BC F F,#%4% BE JFiE K% DC FG.

(1) 3k DG :+ GC WI1{H;

(2) RWHIE EFCG By R

A B
xy
ELAr oml[ > T
3m 9m
Y
D G C
El 8 & 10

22, kit 15 9 W 9, HEER 7 K 18m BRI 4 2m .38 8 B vl E B ) 3m B9k (B ¥
&eww)Exfnﬁuﬂalkwﬂjzyk%ﬁith uﬁ%ﬂ%ﬁﬁﬁ"ﬁ FA7 AN 10 BY B AL AR &R L BRIB s R Ll

S5t
TRy = o

(D uﬁiﬂé,ﬁﬁ 3Sm LMIE Er . mE R 2. 5m,*1§I$E%K%EIWLKtHﬁﬂ’ﬂﬁﬂ?ﬁfﬁﬁ’ﬁ'{ilﬂ;

(2) AR AE 3m ZIE 5 M@ /N T A G B, CIE K P BRI 2 KL Bk 2
flh [RR) 3l 2 B AL L SR A

23, CRA#H 4 159 T 11,8 —FEZE A0 O BRI R A S55F A 7 TR 2R N 28 55 19 7Kk
SHEM A SEH K 12,0 A S ST AL S = U\JiETFU\A BT

4 Al
AA 1 A A ("
1

. A2
(0]
e A2
A> As

A2
& 11 & 12 & 13 & 14
(D WE 135 A S STABIEZR 20 RS A A A5 SR A J 5T AR 26 Fn 3] 252
% OA I ff o WXL
551‘(&?) WA 14,850 A 15 8F A BIGZR AR FR 242 OA 136 42 50°, 283 TLIR R 81 G Y628 M A
g R




= F2RE=E

me | 1 2 3 4 5 6 7 8 9 10
= | C B A B D D A C C A
me 11 12 13 14 15
ER L LY 40 4.8 4
me 16 17 18 19 20
Bz 1 a+4 23-3 231 2030

21. (1) DG_,.

(2) Spppr =—

22. (1) HERIEE MG 3VI0 <v<1242 ;
Q)%ﬁ%ﬁﬁan%%Eif%%nﬁ,M%%K?%W%ﬁﬁ%
e, BRSO A L
23. (1) a=060°

(2) &3 8 it )fG, MASHk.






